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B Answer Sheet No.
B Sig. of Invigilator.
B et oo e inereet s
- ECONOMICS HSSC-I
- SECTION — A (Marks 20)
Time allowed: 25 Minutes
n NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
- It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.
[ Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.
. 0] Wants are unlimited for:
A. Poor persons  B. Rich persons C. All persons D. None of these
. (ii) All material things that satisfy human wants are called:
A Non-Economic goods B. Economic goods
B C. Capital goods D. Services
iii) Diminishing Marginal utility is the basis of:
| A Law of Supply B. Law of Demand
C. Law of Return D. Law of Variable proportion
. (iv) Which one of the following is a continuous variable?
A. Population B. Time
- C. No. Of students in a class D. Exports of Pakistan
(v) Which one of the following is a consumer good?
. A. Office computer B. School Bus C. Hammer D. TV set at home
(vi) If a consumer moves upward along an Indifference curve, his total utility:
A. Equal to zero B. Does not change
. C. Increases D. Decreases
o (vii) Supply curve will shift when: '
A Price falls B. Price rises C. Demand falls D. Technology changes
. (viii) Which of the following goods have elasticity of demand more than unity i.e. Ed >1?
A. Salt B. Ghee C. Car D. Flour
(ix) Land means in Economics:
. A Sea B. Surface of Earth C. Natural Forests D. All Natural Resources
8 (x) Q =2 +4P is a functional equation of:
A Demand B. Supply
C. Equilibrium of Demand and Supply D. None of these
. (xi) When Demand rises more than rise in Supply, then Price of the Product will:
A Rise B. Fall C. Remain constant D. None of these
. (xii) Labour intensive technique of production means:
A More labour and less capital B Less labour and more capital
B C. More labour and no land D. More land and no labour
(xiii) When Marginal Product, MP is zero, then Total Product TP is: .
2 A Minimum B. Maximum C Falling D. Rising
: (xiv)  All inputs can be varied in:
. A. Short period B. Long period
C. Both short and long periods D. None of these
. {xv) in Monopoly, Average revenue and Marginal revenue curves:
A are the same B are different
. C. intersect each other D are parallel
(xvi) Standard of living of workers depend upon their: .
) A Nominal wages B Real wages
C. Average production . D. Govt. Policies
(xvii)  Suppose the price of X decreases and demand for Y also decreases, product X and Y are:
| A Substitute goods B. Complementary goods
C. inferior goods D. Superior goods
‘ (xviii)  Gross Profit include: , _
A Windfall profit B. Monopoly profit C. Pure profit D. All of these
- (xix) In Monopoly and Perfect Competition, Cost curves are: ) ‘
A. Similar B. Different
. C. Opposite D Fall in Perfect competition, rise in Monopoly
(xx) Quasi rent:
] A is permanent B. is temporary
C. arises in long run only D means high interest
o
For Examiner’s use only: ;
. Total Marks: . l 20
& Marks Obtained: D
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Time allowed: 2:35 Hours

ECONOMICS HSSC—I

Total Marks Sections B and C: 80

NOTE:

Answer any fifteen parts from Section ‘B (a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

Note:
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SECTION — B (Marks 50)

Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
What do you mean by scarcity?
State law of Diminishing Marginal Utility.
Why does Supply curve slope upward?
Define Goods and Services.
What is meant by Intensive Cultivation?
Define Capital Formation.
Differentiate between Capital goods and consumer goods.
Why cost curves in Short-run are U-Shaped?
Define Giffen goods.
Why Indifference curves are convex to the origin?
Calculate the equilibrium price and equilibrium quantity mathematically from the following equations:
Qd=20-P Qs=5+2P

Differentiate between Gross interest and Net Interest.
Identify when Demand Changes from D,to D,, what will be the new price in the given diagram?

0, MPS
N

a) in Market period
b) In short period

C) In long period

Define Variable Cost and Fixed Cost. ¢ @ Gewoo

Describe three relations of TP (Total Product) and MP (Marginal Product).

State Economic meaning of positive_and negative cross elasticity of demand.

Why'shape of long run cost curve (LAC) is flatter than short run cost curves?

Define law of Variable Proportion.

Find Total Revenue (TR), Average Revenue (AR) and Marginal Revenue from the following data:
Output (Q)=1,2,3,4,5, 6

Price (P) =10,9,8,7,6,5

Define and draw Marginal Revenue (MR) and Average Revenue (AR) under Monopoly.
With reference to rise and fall, Extension and Contraction in demand, identify the nature of change in
demand from:

Y, D
D, '

a) AtoB B

A

b) BtoC Price b C N

c) CtoD D,

O Quantity Demanded X

Attempt any ONE part. (1x5=5)

Explain the “Law of Supply” with the help of a schedule and diagram.

Use diagrams to show the effect of the following on equilibrium price and quantity:
a) Demand increases more than increase in Supply

b) Demand decreases more than decrease in Supply

SECTION - C (Marks 30)

Attempt any THREE questions. All question carry equal marks. (3x10=30)

Explain the law of Equi-Marginal Utility with the help of Schedule and diagram. Also write limitations.
Explain equilibrium of a firm in Short-run and long-run under perfect competition. Make diagrams.
Explain Robbins definition of Economics.

Define scale of production. What factors determine scale of production?
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